" FenLDWIEDT
o e A

COOK

01.

02.

03.

04.

05.

Spsam_cupBlad GSTWer e wirol L eufl Hiawmwin?/ FH & HF-HT, GST & Wid =l I
&7 / Which of the following is the highest tax slab of GST?

A) 12% (B) 32%
C) 20% (D) 28%

uenpw wHnIb SIPwssGL @rss Haliugnssdr @neE PssLLESDs [ E@ 37 Ik AT -
Tod HIITSHTAT T T BT 8- / The old and worn-out red blood corpuscles are destroyed in.

(A)  seSye /I / Liver (B) alppriuEsd / 92/ Stomach
(C) wawrantye [ faeelt / Spleen (D) ergibLy inggangy / S~A / Bone marrow

Brib 2 ereflé@d srpprerg eurysseilar swme. @bs samauldsn Sfsulsors @meEn
qury / T8 BT T 80 Ya o €, 98 9l o s R) @, faeror o form g w1 3= wfaa

27/ The air we inhale is mixture of gases. Which of the following gases in the mixture is highest in
percentage?

(A) @QGsmen / TSI / Ozone

(B) <=ysendleger / AMOTETY / Oxygen

(C) eopi_yeern/ J2IsH /Nitrogen

(D) smiLGTEL yéeman() / HTET-S5-TEHISE / Carbon dioxide

o oflen s Quflu QuephisL_e | foge ° =@ EEy| HRETR & ! The largest
Ocean in the World is

A) @pdu QuEpkis,e / f§< TEETR / Indian Ocean

(B) i _eorariqds QL ks / TAT-h HETERR / Atlantic Ocean
(C) oiawrLmirqam / 3T-ETEhiceT / Antarctica

D) ud9s Quepks.e / IRTHH TFEIR / Pacific Ocean

@pdwredar st Quilu eiean erg? / TR § T8 T §fF HIA-T1 87/ Which is the biggest
Dam in India?

(A) QL yemanr / dG0 &8 / Tehri Dam

(B) @H&H oienant | A aTe / Idukki Dam

(C)  w&yT et / TS 18 / Bhakra Dam

(D) Qedeuri ojenemr | S@eX s19 / Lakhwar Dam
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06.

07.

08.

09.

10.

Gl wrs smaat CaieH —— ATHHETEESG R WD FerLQupdng). / TLIT H
RGIET N1 H Teh 9T §idT &1 / President election held once in years.

(A) 4 yaw@ser /TR / 4 years (B) 5 <yam@amar/ W= TS / Five years
(C) 6 <pam(ser/ B: T/ Six years (D) 3 yerr(aser/ Y / Three years

2 @& &EHMIFSHPO Hard eritlurpg Carar r Lu@&ng? / #9187, fova wafawor fiaa & &9

- W WA STET &7 / Which day is celebrated as World Environment Day?

(A) 16Guw /16 T3/ 16 May (B) 17 gOene / 17 I3/ 17 July
(C) 18 qebui/ 18 fe&=T/ 18 December (D) 5 gget/ 53T /5 June

2 L& Geuliuflensd pmid 2 amre| SLS5mMe RUBIEGUOSSIeS / Tt YR & qro|E sl FEa s
T 3R @M1 ! 984 T & / The one which regulates body temperature and transport food
is ——

(A)  eram@ennis opmitb Qarpliser /ad TS/ Oil and fats
(B) B /ST / Water

(C) eremensibsar / ThUGH / Enzymes

(D) anmiGomrersar / 37d:91E / Hormones

&G @limusmaer Casls@d Glieusast quier Bip / Sa-Friwwli sufite it wher 71
o fote 3wt ‘e @1 1T 87/ The colour of the dustbins used to collect biodegradable wastes is

(A)  gpser / HIT/ yellow (B) wué&ens/TU/ green
(C) Asiiy /T / red (D) sy /T / black

wmbgisaar pranf eremm SiPwiLGeug) / T 36 G H Fad § / The “Queen
of drugs” is known to

(A)  Queffeier / YT / Pencilin
(B) wuCymsler/ S / Bromin

(C) @enseSen/ 3G / Insulin
(D) umpré_Lore / W¥eHATH / Paracetamol

Bpdu demteuet ,rmiss fipeuar 2 Hgio aiarrad/
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12.

13.

14.

15.

WleitaL_SSTLIGLIT([H(EBEE @@ 2-STFeuriDd | T g S ISTEWI 8 / An example of insulator is
(A) smfyo /e / Copper

(B) @by / G/ iron

(C) waflg 2 L é /HF T IRK / human body

(D) yésLenL /el / wood

senflafluiler, Blybsy Hlevareusd erenn iewpssliLBHieug / W o, TRl JER @ FEd ©
/ In Computer, the permanent memory is called
(A) RAM (B) CPU

(C) ROM (D) CDROM

@ earDmeurss @eunpdldr org? / T, TEH & BT TG ST et / Sound cannot
travel through

(A)  semanti /ST H & / Water (B) @by /ARAY/iron

C) smhm/AFH R/ air (D) Qeup@iib/IAHF/ Vacuum

B 2 L efled 2 pusHwurdl, 2 ame| QeforasdneE e gayb Sieab / TR YRR # 399 BN areln
A, EIRCIEEIREIER: R D / The acid which is produced in our body and helps
in digestion of food is

A) 196 oot / THRSH 37T / Acetic acid

(B) amant CymeCerrié il / TgIFIGR 377 / Hydrochloric acid
(C) s Sifleoid / TR 317 / Sulphuric acid
(D) Quetrgmuds sifaib / S=TTRI A / Benzoic acid

@ (1) Siayae eramg —— 1865, / Th (1) =g <. g 2 7 One (1)
ounce is mi.

(A) 20 8.65./ 20 T &f. / 20 ml (B) 28 .8.65./28 fireft. / 28 ml

(C) 32u8.60./32 T/ 32mI (D) 30 8.65. /30 .=, / 30 ml

Qi eamQeuat g rmiéss) fpieuar 2 hgiwo aarraid/
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16.

78

18.

19.

20.

Afled QFleushars 2 ame| auamaser Fean el Ceudmg uig) / fafedm (grilling) =Tet @TEI-
Tt ﬁ, ' T~ Tord e e 81 / Food items for grilling must be seasoned:

(A
B

) EILILSHE sHm (P / THT Y H IS 98 / Just before cooking
) s@wssLi e / GHT YHM % 14 / After cooking

—_—

C) sow&Eb Qur(pg / @M1 9T & SR04 / During cooking
(D) &sen QeiiwCaucirLmib / Teh— e 7 et =feT / Not seasoned

@@ av@eller sflwurer QslquréEn sryanfll ererug /| TG (stew) % fo gt 1 (agent) & /
The correct thickening agent for a stew is
(A)  ewmige / 89 / Liaison (B) Gereriomey / Hek &I 31T / Cornflour

(C) Qpmiig/ 3/ Bread (D) Csrgienio Wray !'ﬁﬁ:ﬁ:‘[ 3121 / Wheat flour

Bever LsLILRSgeusHETar QeuliLiflene / ST % HUSK o TeTt A9 & / Temperature for storage
of fish is

(A) 1°C (B) 7°C

(C) 18°C (D) 25°C

Qe ger Gauphled @b QuPILESDE? / STl ¥ 9T ST R/
Gelatine is obtained from
(A) Gasrgienwo omey / g 3T 31121 / Wheat flour

(B) <=if& wmrey / =T kT AT/ Rice flour
(C) Bafler Qeeyersar / TS o I / Gills of fish
(D) &g apdL. / STHERI 1 R / Animal hoot

LpFseer wHMID Quéger, sFissamy, HALAs <ufleon Csiss QeuwiL@b grb Geieurn

EpssIL@ADE? / FEl b 8§ I fFA, ve, Rifiw ot & o AW (Jam) F FEd T
/ Jam made out of fruit pulp and pectin, Sugar, Citric Acid is called

(A)  wriwCan / FHAS / Marmalade

(B) SpL L L/ YT T HeEH / Peanut butter
(C)  ooLiyeis &ffid / AT hIH / Fresh cream
(D) wCureaney / AT / Mayonnaise

Bpdw eflambleuafl gy rmiiFs ﬁgususur 2 B0 aueTTaLD/
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-l FEMLDILIEIT
ol e A

COOK

21.

22.

23.

24.

25.

Spsa_ oThe 2 aredld eeul L flen-C @iflsid 2 drarg? / Frefalaa & &, siftres foerfi ¢ giear
@ § / Which of the following is vitamin-C rich food?

(A)  Qamiwr/ 3HES / Guava (B) Gsmg /Hl/ Chicken
C) <l gepsd /TG / Mutton (D) QeuamenLgsmii / RSt / Ladies Finger

QUGS LITE) L|JSHEIsET erenau / & TR o g8 T %19 A &7 / What are the two types of milk
@ & -y
protein?

(A) Gapbs wpmd Gemuwr / ®9F 3T ER / Hemp and Soy

(B) Geu wpmid Cafewn / 8 1 I 3R B+ / Whey and Casein

(C) 1§ yGrm iean wpmib Qanibr's / HeX N T EHT / Pea protein and hemp
(D) &eweur wpmd Camuir / T S ER / Quinoa and Soy

QLo usLILOSSRIES SEHS Ceuliuflene / TS T JTEI YUK ATYHH B / The ideal storage
temperature for egg is

(A) 15°Cto 20°C (B) -1°Cto -5°C

(€) 0°Cto -1°C (D) 2°Cto 5°C

Cuit 568 LweTLeug / ST ht <1 T ST % fag @iar 2 / Paring knife is used for
(A) ot i /33M / Lifting (B) Guafiii /&l / Mashing

(C) amiefi / Schivft (TeT) / Carving (D) Bendli/ THS-ZHhS HEAT / Mincing

Cusdrdpe e @mid Crriv/ulg. wree @uiedld meuliLms SmpliLg /ST T Taa, T o1
I IUTH o ToTT gareRt TaH & 2AfdT ¥Hg Y d & / The final time/step the dough is allowed to rest

and rise before baking is called
(A CiemeSri / I/ Proving (B) Lmédm /ST / Docking
(C) Qpavigrii /g / Resting (D) Qi / AT / Rubbing

@pdw eflamGleuafl prmiiEs Hpeier 2 Fgiw eiarrsid/
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26. Wmgeuran Lpmiei Gardulen sywrer erepl / TH STRIGK Tl T AHS WK § /

27.

28.

29.

30.

Standard weight of soft broiler chicken

(A)
(B)
(©)
(D)

(A)
(©)

Gflw

1.5 88 -2 84 /1.5 6 - 2F.am /1.5kg to 2 kg
288 -3 48 /2 T%.am - 3TF.am /2 kg to 3 kg
500 & - 1 &4 /500 T -1 f&6. A / 500 gm to 1 kg
388 -4 £ /36T - 4THTM /3 kg to 4 kg

LPG - effleurésid / LPG ST QT &I ® / LPG full form

Liquid Purified Gas (B) Liguefied Petroleum Gas
Liquefied Perfumed Gas (D) Liquid Plastic Gas

eafl@ampg prd Qumd el Liflar erg)? /| TR & &9 H-41 T ST wd &2/

Which vitamin we get from Sunlight?

(A)
(B)
(©)
(D)

eaulLiflen-C / TaeTffH-C / Vitamin-C
aeul_Liflen-A / faeTf®=- A / Vitamin-A
emaul_Liflan-B12 / fa1f[- B12 / Vitamin-B12
eaul_Liflan-D / f1f®™- D / Vitamin-D

Bevar CaipQsdEEh Curg) visar Qseasr —————— Binsdd @ méss Ceuam@ib? / TS AS!
aﬁgﬂ%am, e Bt =TT / While selecting fresh fish the gills should be in

(A)
(C)

Asliy Hpd /A TTH/ Red colour  (B)  wigptay Hmd / SR TTH / Brown colour
2 TEHSF ;ﬂm@lﬁ'ﬁi‘?ﬁ! Orange colour (D) &L ﬁm&lﬂﬁfﬂﬁ! Black colour

ambid g@euer LwerL(Heug) / TIF 31a (oven) T ST BIaT & / Combi oven is used for

(A)
(B)
(€)

(D)

Brredl epevid FepLowieh / ¥TH 3 T YT | / Cooking with steam
Qeutiu srpiler apeolb sevLowie / TKH §T % HIY Y | / Cooking with hot air

Brrefl wpmd Qautin srhlen eped sewowed / WY F TRY TET F WY THA F /
Cooking with steam and hot air

Cuna e ergieyLilerency | 3HUH 1 &1 / None of the above

@pdw eerQeafl urmiEf Hpest 2 fgio auerrsib/
TEU e wirwad [ ISRO Propulsion Complex — griiyed/switer/April 10, 2022
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32.

33.

35.

36.

sl el L QumilsEh Gurg e eLwmod @més ey sHésrb? / FHITE Hi Ad / qed

T, 35 g § h" SR / How do you prevent cutlets from breaking while frying?

(A)  eapeeaugs Qrmily g Qrriys grer Ceriuger apaibd / TR s€ a1 e & - I
TRt / By adding soaked bread or bread crumbs

(B) sanwowicd Cam_reneu CaliLigen epeotd / ST HIeT e / By adding baking soda

(C) Gamgenwo orenau GaliLger epaid / 1§ o 312 st TR / By adding wheat flour

(D) seawefenry Garliuger epeid / T I e / By adding water

o5 2 ulfwed yefliiy sryenfl? / T8 & hIM—TT 919 SIS 1 SR &7 / Which is Biological leavening
agent?
(A) Gsrir/ B1ET/ Soda (B) mevl/FEE / Yeast

(C)  uméteMwir / ST / Bacteria (D) &g /=g / Air

uEd Fmwisme GHUAHD CerhEpri? / I UM % T Iugi fRd S arer wse R /
The term used for cooking partially?
(A)  umrrumrule /39941 / Par boil (B) @vielflid /TSI / Steaming

(C) QGuréfli/TRA UM A GeT/ Poaching (D) Gerédr / AT/ Soaking

o oif ALkdDsrer 5EHS GeuliLflena euibLy / T TEE I WUSK ATIHH ST 8¢/ The ideal dry
store temperature range is?

(A) 0°Cto8°C (B) 5°Cto10°C

(C) 15°Cto 18°C (D) 40°C to 45°C

el Qsrilns Hpbs @ 2 srrad / 9] =6 I IGTEW & | Example of an
animal fat is

(A) s / TR / Margarine (B) <2pellél erem@amris / St %1 et / Olive oil

(C) QeueimQantis/ TFE / Butter (D) @ /T-a4r/ Suet

1 fiGar &lymb erenLig) ———  / Th T, % SR & / One Kilogram
equal to

(A) 2 Qe /2 T8 /2 Pints (B) 3e&d i/ 3w/ 3 Liters

(C) 2.2 ueyen /2.2 /2.2 Pounds (D) 1 @eunii e/ 1S/ 1 quartz

Bpdw elarQeued @prmiiFs Hpeuer e g euarmsib/
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37.

38.

39.

40.

2 LM sLLewlurerigem———— / R & Fmfar &1/

are body builders.
(A) ygswb / Y / Protein

(B) ariGurenan Gyl ger iiﬁlﬁﬁ%@g / Carbohydrates
(C) @iy /| / Iron
(D) srédwib / HI=H / Calcium

Daupdled wasT-Glieuawu CaipAs@ / FrfaRed ¥ & sia-fr=ians smfite w g -/ Select
Non-Biodegradable waste among these
(A)  sréls enLIsET / TS o &t / Paper bags

(B) Qermeivig & Limt_iq doaseir / WA o dtaet / Plastic bottles
(C) o ewra)sflejser / Gfssrat & fe5ereh / Food peels
(D) WlEpFlw o ewreyger / ST G / Left over foods

@pdwureder QppaeTErid oTg)? /ARG 1 1 S / Rice bowl of India is ————
(A) siprLST | 1 | Karnataka

(B) sSpmr(H / AWTHTE / Tamilnadu

(C) wigsemss/ USTTE / Punjab

(D) <updrd QyGseid / 34 a1 / Andhra Pradesh

e @pSureiler & @i Wrflgs Qupp 2 ae). Asaalitdureled @shE Qamamureag ors? /
ST ARG H, TR Th AR T ¢ | 9 SXe 1 SI0 WA # 47 87 / Kheer is a popular dish in
North India. What its equivalent in South India?

(A) Qsrie® /55 / Gojju (B) i () /ASg/ Laddu

(C) eww@GTuUTE !ﬁﬂ{%l Mysore pak (D) wmwed /9EH / Payasam

41.  srgmremTons Qe i sTLsHlEsmarT, Gaeurmid Siepassah / Sgeh T ¥ he Afosdl i had &
/ The roughly cut vegetables are also called as
(A) er9mi/=R1EHT / Chopping (B) eig@yiiigmi/ gl 3eMT/ Shredding
(C) eledlt g i / =fRAT / Slitting (D)  WBwit-Liméen / HL-TTE / Mire-poix
10 Bpdw eflamteafl @y rmiiEd fimeuar 2 Hgio auerrasid/
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42.

43,

44,

45,

46.

gr&seny HMID WLl GCeudrenar smellamme Qaiwuiu@b Gédav SampssiiLihieug) / ITEHT
3T 3 & Hhe 9T Eﬁﬁﬁﬁ?ﬁa’?f g / Cookies made out of Sugar and Egg

white is called

(A)  sevLirse @ddlay /UG STad HehIS / Icebox cookies
(B) Gsé @édla / e Fehrst / Cake cookies

(C) waemesaer / AT / Macaroons

(D) aai @éden / IR & Fehlsl / Sugar cookies

s 2 amenau Qaul (b Lvensufer Bimid erzy? / T @rer uaTef (Sea food) % Torg 3wzt e =t
S for| W1 a1 BIaT 27/ Which colour cutting board used for Sea food?

(A)  Qeuctenar / T%g / White (B) wuéens /B / Green
(C) Beotd /=T / Blue (D) &Asliy/ AT/ Red
sepowed Gorimeller Ceufll GQuwir / IfFT der A wEtem =T R /

Chemical composition of Baking soda is
(A) srevgs Carm/ SHiTeeeh WIeT / Caustic soda

(B) Gemguib evui-smiuGen / AETH ST / Sodium Bicarbonate
(C) Gemguwib @ysemen() / ITESTT ATFTES / Sodium Oxide
(D) Gsmguwib @Cerrery(H / FTSIH FARIEE / Sodium Chioride

s penpulld wCuraearsn GupULIGSHDS? /e qlis @ AaE 9T ST @7 / Mayonnaise is
obtained by which method?

(A)  Gumedigmi / ZER / Folding

(B) GanrGurgaarGsayer / HSTAIFdT / Homogenization

(C) WO&edi/ T/ Mixing

(D)  eréed). Csayer / TFEHH / Emulsification

Cuaol” s5Huler 2 LGWITsLD / Tk AT TR T ITART BT § I A Palette knife is used
o ——

(A) el /=1 % fAT/ Chop (B) smiveu / Schivit & fIT/ Carve

(C) S/ Teswan 3 o TeTw / Peel (D) el /33 & Feaw / Lift

Qpw eflamCeuad ,rmiFs Fpeuar 2 Hgio eieTrsd/
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47. Geraifiss srisdamer seb Gurg QeuelGupb eeul Liflar erg? /B T Tfesral Eageic k|
a1 et e srar 7/ Washing of peeled vegetables removes Which Vitamin?

48.

49.

50.

(A)
(B)
©
)

@au_Liflar A/ Toiff A / Vitamin A
@aul_Lfler C / T4 C / Vitamin C
eeul L 86 B / frfi B / Vitamin B
eaul_Lfan E / f&arf®= E / Vitamin E

GCwaT-3 eranQamiseien eueTorar ppeld Spaamreuphle erg? / T # & FF-d1, AT-3
Al T GGG |G =7 / Which of the following is a rich source of Omega-3 Oils?

(A)
(B)

Liméd Quim(pL_ss6iT / 34 % S¢1EH / Dairy Products
era@emriiaser / 4 / Oils

(C) \Sen-cram@enris / IS fefar a9 / Cod-liver oil

(D) euarevLid) / FAEII / Vanaspathi

Qurgleuns — erarg) Qrriy. Cobu@sd / THH IS FIH g/
is the common bread improver.

(A) ey /- ¥/ Salt (B) Gemwm wmey | @Y1 37eT / Soy flour

(C) rrevl_/IRL / Yeast (D) sisseny /&R / Sugar

—— Jmwan Casgsafle SomsryrsErsE gfn LwauBsSsULGHDG. / foame &

Exa) T, gSH & PﬂQ iﬁm 2 / Icing is used for decorations on

wedding cakes.

(A)
(B)
(©)
(D)

rmwed / T4t / Royal

sib QUi / TH YR / Gum Paste
Afib / R / Cream

Uig [5Gl 2 edmEe | T / Glaze

12
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Correctly fill the blank to make the sentence grammatically correct: -

51 He will be there in hour.
(A) The B) A
(C) An (D) Two
52. Johnny is a keen player but unfortunately he has ———— skills.
(A) Few (B) None
(C) Some (D) Little
53. The earth around the sun.

(A) revolved
(C) is revolved

54. By the time she was fifteen, she

(B) has revolved
(D) revolves

a talented singer.

(A) shall become
(C) had become

55. Bala gave a coconut to
A) a
(C) the

56. |can't depend ———  You.

(A) at
(C) on

57. We cannot
(A) live
(C) dreams

(B) become
(D) none of the above

Elephant.
(B) an
(D) few

(B) up
(D) upon

life without suitable environment.

(B) buy
(D) think

Qpw elambeuafl @prmiiEs Hipeuar 2 Hgiw euarrsid/
T e HirAeg / ISRO Propulsion Complex — griiyé/amier/April 10, 2022
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58. The baby —————— for milk.
(A) Cries (B) Cry
(C) Willcry (D) Cried
59. Most newspapers —— during the night.
(A) Were printed (B) Are printed
(C) Have been printed (D) Will be printed
60. Children love ——— story books.
(A) read (B) reads
(C) will read (D) reading
Change the statement to indirect speech.
61. Kesia said, “I| am making a gift for my father.”
(A) Kesia said that she was making a gift for her father.
(B) Kesia said she was making a gift for her father.
(C) Kesia said | am making a gift for my father.
(D) Kesia said that | am making a gift for my father.
Change the sentence from Active voice to Passive voice
62. A terrible cyclone destroyed the village
(A) The village is destroyed by a terrible village
(B) The village was destroyed by a terrible cyclone.
(C) A terrible cyclone was destroyed the village
(D) A terrible cyclone was being destroyed the village
Choose the option which expresses the meaning of the underlined idiom/phrase:-
63. His promotion is on the cards.
(A) Due (B) Evident
(C) Certain (D) Probable
14 Bpdw eamtleuafl @, rmiiFs fpeier 2 Fgo euerrsid/
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65.

66.

67.

68.

69.

Choose the correct option to complete each of the following sentences.

The island is so small that there are only five houses __ it
(A) On (B) In

(C) Over (D) Out

Three Idiots really a watchable movie.

(A) Are B) Is

(C) Superb (D) Do

The railway track runs the river.

(A) By (B) On

(C) Over (D) Across
Identify the degree: Sakuntalam is the best drama in Sanskrit.

(A) Superlative degree (B) Positive degree
(C) Comparative degree (D) None of these

Identify the word which is not a verb.
(A) prepares (B) angry
(C) rises (D) plays

Select the plural form of “knife”.
(A) Kbnifes (B) Knives
(C) Knaifs (D) Knies

Bpdw lamrQeuafl g rmiEd Hmeue 2 Hgio euerrsib/
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70.

@nm Caangaild @@ praeassrar <l msirey 75 &.4. gaeufl wrssdne ereuaiare) oiflf
Caeneu? / T e | Fiife =1ad =t @ud 75 foh.am. 3| sat wél & o, foham <mat it stragshar
BIft?/ The consumption of rice per day in a canteen is 75 kg. How much rice is required for the
month of January?

(A) 2250 (B) 2175
(C) 2300 (D) 2325

71. grep 4 Lgen eurenpliLprisemer euniidl geuGeurm BaTLHEGD @ern eisb GQsr@adpmi.
13 auranipriLipiise Bgordarn. erésmen LT aurapliLpsamst QupHlLiLTTaeT? A
4 TS hel GG, 3T T S ol Th-Teh shall oal o | 13 et 37d | o< 1Y) fohe real sl Uk helt
T#1?/ Ramu bought 4 dozen bananas and gave one to each of his friends. 13 bananas were left.
How many friends got a banana?
(A) 61 (B) 48
(C) 35 (D) 13

72. 100 suursdlear QaieugsnEg 2 % SCar ylir Csmaiu@dng. @m suursd Geaiws
CaeneuliL(Id @yt LT ereueuere]? / 100 TUT ST o T1T 2 ¥ kg 31 hi STTawIahal & | Toh FdTd! &
fore foram 3mme <t seea Bft?/ For 100 chapatis 2 % kg atta is required. How much atta is required
for one chapati?
(A) 75gm (B) 50gm
(C) 25gm (D) 30gm

73. @@ aurldlen shang eflena . 720. gmeuen ieng 5. 550.80&@ @Qrawm® werm FeT@Enpuiguid,
aurRiflenmi. s gereruly 10% erafled, @rearreug) sanenuig e eisib ereleueray? / Th TSI
Y THR-¥TE 720 FI¢ 7| I = =l v safRy, S AR G F 918 550.80 TICH ST B FOH G
10% 55‘, ?ﬁ@ﬂ?{&’ﬂ‘(ﬂ%’?! The market price of a watch was Rs. 720/-. A man bought the same
:g:er'z)s.sso.ao after getting two successive discounts, the first 10%, what was the Second discount
A) 12% (B) 14%
(C) 15% (D) 18%

74, s@E@s 413 - 5/6 = | GHFCTHINT 4/3 - 5/6 =/ Simplify: 4/3 - 5/6 =
(A) 39 (B) 13
(€ -1/3 (D) 1/2
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75.

76.

i,

78.

78.

80.

@@ Csemgaie g WGt griiur® eaflursené@ ep. 8.00 wHmb @UUBS 2afLTsErsE
. 12. @m prer ellhuener 500 artiur@samgn. @ 400 Cuir earfwirser wHmb 100 Guir
@uUuUBs eaflwirser Sl 2 areel rHSHECsTaTEDTISeT. SiHS HrEpssrar eflhuamar aflana
GTEUGUATE? l@ﬁqﬁ,maﬁ%ﬁ,ﬁﬁzw 8.00W%ﬁﬁﬁﬂmﬁ?ﬁa§ﬁi‘({
12 ¥9¢ 8| s fo ® 500 weas 1 @ fosmar ®, e 400 wd=m 3Rk 100 wfeer sderat 3 @

Tl 39 & it foeht @ R 37 / In a Canteen the rate per plate meals is Rs. 8.00 for

employees and Rs.12 for Contract employees. In one day there is a sale of 500 lunches. Out of
which 400 employees and 100 contract employees have taken lunch. What is the Value of sales on
that day? '

(A) Rs.400.00 (B) Rs. 4400.00
(C) Rs. 4040.00 (D) Rs. 4440.00

(657 - 15) e HllienLis arewrs. / (652 - 152) T Hed Udl T / Find the value of (652 - 152)

(A) 4000 (B) 2800
(C) 8400 (D) 3500
676-61 cuitdaepeold / 676 1 TS & / Square root of 676 is
A 17 (B) 26
(C) 24 (D) 19

2, 4, 12, 48 ... @5 Oz SBHSs QD Tammens sam(Gy. / FET H I T&T, Tl
<I'MsYe : 2, 4, 12, 48 ... / Find the next number in the series: 2, 4, 12, 48 ...

(A) 120 (B) 168
(C) 240 (D) 170

5. 3606@, 20% Qerugde edpeEn e Qunmeisr elammamu srers. / Th T&g i 360 T H,
20% o ST¥ T &< 77| 39 %] <hT <M UdT «7RY / Find the cost of an article sold at 20% gain for
Rs.360/-

(A) 400 (B) 260
(C) 200 (D) 300

P = e5. 20,000, aul"iq 6s1d = 10% wpmib yeawrhiaer = 5 erafled safloul iy Ereirs. /3fE P = 20,000
TT B, SIS 1 X = 10% & I 9 = 5 7, d T oA, YT «M3Y — / Find the Simple Interest if
P = Rs.20,000, Rate of Interest = 10% and years = 57

(A) Rs.10,000 (B) Rs.9,000
(C) Rs.11,000 (D) Rs.12,000

Bpdw efarteuafl oL rmiFs fAmeiar o Ggio earraih/
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